2 1

PARTS LIST
ITEM QTY DESCRIPTION
(m 1 WMX200 M-LOK ADAPTER
Light body
(2) 2 5/16" M-LOK button head screw (not shown)
3) 2 | M-LOK T-Nut (not shown) Light bezel assembly

Tools Needed
e 1/4" slotted screwdriver for the shoulder bolt.
e Circlip Pliers w/ 0.046" tip dia for the retaining nut.
E.g., Knipex 46 21 A01 SBA
e 1/8" Hex driver for M-LOK button head screws.

1. Remove Factory Picatinny Mount

a. Optionally remove the light bezel assembly.
This allows for easier slotted screwdriver operation.

b. Use the 1/4" slotted screwdriver and the circlip pliers
to unscrew the shoulder bolt and remove the factory
picatinny mount (not shown).
Keep the shoulder bolt, washers, and retaining nut 2 x Washer *
for reuse in the next step.

Shoulder bolt *
2. Install M-LOK Adapter

a. Reference the nearby diagram, re-assemble the kit with
the M-LOK adapter (1) using the shoulder bolt, washers,
and retaining nut from the previous step. A dab of Loctite 243 on the
NOTE the hardware order, from front to rear: retaining nut threads is advisable.

Shoulder bolt, washers, light body, M-LOK adapter,
light body, and retaining nut.

b. Use the 1/4" slotted screwdriver and the circlip pliers s
to tighten the shoulder bolt.

c. Re-attach the light bezel assembly if it was removed.

NOTE: * Included with your Insight Technology WMX200 Kkit.
Adjust the rotational resistance to the desired level by
tightening / loosening the shoulder bolt. ++ Optionally apply a small amount of silicone grease.
NAME DATE
S oo Tmwr| KOENG PN 02-003
CHECKED TITLE

APPROVED CFC

WMX200 M-LOK ADAPTER

KD E N G MATERIAL FNisH Sz A DWGNo. 20220915 Rsvo 1
.- IS DU DR 6061-T6 Mil. Spec

Type 3 Anodlzed SCALE 1 :1 WEIGHT SHEET 1 Of 1

2 1




